10 9 8 | 7 | 6 5 4 \ 3 2 38710

REF. -50 OPTION (6)

12.0 5.8
i )| =
3.96 ! ) il
2225 pLos) 953
156 . | 953
953 375 0
375
(DB REF. -56 OPTION
—— «%WP ©

et 1

0.81 1
MATERIAL: SEE TABLE. 3.18

1
2. FINISHES: SEE TABLE. 125
3. PRODUCT SPECIFICATION: NOT REQUIRED. 1.78
4. "XX" REFERS TO THE QUANTITY OF CIRCUITS. Q70
5. ROHS COMPLIANT.
= - DIMENSION STYLE SCALE DESIGN UNITS
R B I £ T TS| |QUALITY| GENERAL TOLERANCES THIRD ANGLE
7 XX |SCREW, #6-32X250, BHD. PHL-SLOT (0PT -56) @ STANLESS STEFL|PASSIVATED Z Z5Z| |symeoLs| (UNLESS SPECFIED) MM/IN 241 INCH © dpROECTION
6 |[XX |SCREW, #6-32X250, PANHD, PHIL-SLOT W/WSHR (OPT -50) |STEEL N, CLEAR (HROMATE |5 , ==& mm INCH | DRAWN BY DATE — |TITLE
B2S=Sz|W-0 LPAGSE-— [3-— [(YORK 2005/03/30 9.53/.375 SR BTS ASSY
5 |XX |SCREW, #6-32X250, BHD, PHL-SLOT (0PT ~49) BRASS NICKEL PLATE =5 c SPLAGESE — 1005 [oEckep & BATE SOLD TURRET, #6-32 SCREW
4 |XX | SCREW, #6-32X250, BHD, PHL-SLOT (STD) STEEL IN, CLEAR CHROMATE | I# 2 2 = = 81N\C/=0 |2 PLACES|£0.43 |01 _ |oROBERTSON _ 2005/03/31 (E-716XX)
95 = % % % 1TPLACE |[*03 Eap— APPROVED BY DATE /N
3 XX |TERMNAL, TT BRASS TIN PLATE zg 222 ANGULAR £ 2 © JGROBERTSON  2005/03/31| OIEX MOLEX INCORPORATED
2|2 |MOUNTING PLATE BRASS NICKEL PLATE BS54 MATERIAL NO. DOCUMENT NO. SFEET NO.
1|1 |NSULATOR POLYESTER (PBT) | BLACK IToETa DRAFT WHERE APFLICABLE| SEE SHEET 2 SD-38710-003 i OF 2
Voo MUST REMAIN SZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
z WITHIN DIMENSIONS
ITEM | QTY. | DESCRIPTION MATERIAL FINSH C B INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
T 5 ’ T : « o b




) 9 8 6 5 4 3 2 38710
F
N - . . ASSEMBLY ASSEMBLY ASSEMBLY ASSEMBLY
C\NROCU(\]TFS mmD‘M' A " mrE‘M' B . mnE‘M' ¢ . mmD‘M' o " MATERIAL NO. | MATERAL NO. | MATERIAL NO. | MATERIAL NO. —
(STANDARDI (-49 OPT) (-50 OPT) (-56 QPT)
02 4041 158 953 | 0375 | 2858 ] 1425 211 0.83 387109202 387100802 387110402
03 49.7 196 | 19.05 | 0.750 | 38.40 | 1500 307 | 121 387109203 387109803 387110403
04 59.2 233 | 2868 | 1125 4763 | 1875 | 402 | 1568 387109204 387100804 387110404 387100625 E
05 667 | 271 | 3810 | 1500 | 5745 | 2250 | 497 | 1.96 387109205 387109805 387110405
06 762 | 308 | 4763 | 1875 | 66.68 | 2625 | 592 | 2.33 387109206 387100806 387110406
07 878 | 346 | 5715 | 2.250 | 76.20 | 3000 | 688 | 2.71 387109207 387109807 387110407
08 97.3 383 | 06668 | 2625 | @573 | 33756 | 783 | 308 387109208 387100808 387110408 |
09 106.8 421 | 7620 | 3000 | 9525 | 3750 | 878 | 346 387109209 387109809 387110409
10 116.3 458 | 8573 | 3.375 | 10478 | 4175 973 | 383 387109210 3871098 10 387110410
11 125.9 496 | 9525 | 3.750 | 11430 | 4500 | 1069 | 4.21 387109211 387109511 387110411
12 135.4 533 | 10478 | 4125 | 123.83 | 4875 | 1164 458 387109212 387109812 387110412 b
13 1449 571 | 114.30 | 4500 | 13335 | 5250 | 1259 | 4.96 387109213 387109813 387110413
1% 154 4 6.08 | 123.83 | 4.875 | 142.86 | 5625 | 1354 | 533 387109274 3871098 14 387110414
15 164.0 6.46 | 13335 | 5250 | 15240 | 6.000 | 1450 | 571 387109275 387109815 387110415
16 1735 6.83 | 14288 | 5625 | 16193 | 63756 | 1545 | 6.08 387109216 3871098 16 387110416
17 183.0 721 | 15240 | 65.000 | 17145 | 6.750 | 1640 | 6.46 387109217 3871098 17 387110417 —
18 192.5 758 | 161.93 | 6.375 | 180.98 | 7125 | 1735 | 6.83 357109218 387109518 387110418
19 2021 706 | 17145 | 6750 | 19050 | 7.500 | 183 7.1 387109219 387109819 387110419
20 216 833 | 180.89 | 7125 | 20003 | 7.875 | 1926 | 758 387109220 387109820 387110420
21 2271 871 | 19050 | 7.500 | 20955 | 8.250 | 2021 | 7.96 387109221 387109821 387110421 c
22 2306 | 908 | 20003 | 7.875 | 219.08 | 8.625 | 2116 .33 387109222 387109822 387110422
23 2402 | 946 | 20955 | 8.250 | 228.60 | 9000 | 2212 | 8.71 387109223 387100823 387110423
24 2497 | 983 | 21908 | 8625 | 23813 | 9375 | 2307 | 908 387109224 3871008 24 387110424 387190507
25 2592 | 1021 | 228.60 | 9.000 | 24765 | 9750 | 2402 | 9.46 387109225 387100825 387110425 —
26 268.7 | 1058 | 23843 | 9.3/5 | 25718 | 10.125 | 249.7 | 9.83 387109226 387109826 387110426
B
=29 DIMENSION STYLE SCALE DESIGN UNITS
ZEo| | N Ees SPECREDY MM/IN 24 NcH | © CIREREAIGT
Wi~ g g g _ mm ‘N[H DRAWN BY DATE TITLE |
PoRR|z v:Q TPLACESE — =——  [CYORK 2005/03/30 953/.375 SR BTS ASSY
o< £ 3 PLACES |+ ———  |+.005  |CHECKED BY DATE SOLD TURRET, #6-32 SCREW
=2 2==18\{/-0 [2PLAGES[£013 [£.01 _ [GROBERTSON 2005/03/31 . (E-716XX)
N = 5 5 [in} j PLA[E i 03 i——— APPROVED BY DATE
%i =2=22° ANGULAR + 75 GROBERTSON  2005/03/31 Metex  MOLEX INCORPORATED A
S ; S ; MATERIAL NO. DOCUMENT NO. SHEET NO.
= =28 DRAFT WHERE APPLICABLE| SEE CHART SD-38710-003 2 OF 2
hwooi< WWWNSE‘MREENMSA“ONNS SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TO MOLEX
C g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
R 5008 G/ 9 8 \ 6 5 4 \ 3 \ 2 \ 1



